DIRECTIONS FOR USE OF THE MK SLIDE RULE

The ide rle consists of three basi parts,viz. “the fixed stock”, the “side” and the “cursor” upon which are engraved
me main o b of sy indcatrines ()
“The front of the ule conteins the following scales

1y Warleagih A s froquony o requoey

2) Capacity C (on slide)

3) Sef inductance L (on green scle)

4) Reactan

5 Self inductance L (reen) and capaciy € o sde)

6) Reactance Ry_(on green scale)
“The back of the rle contains the following scales

EYe

8)sinfecs

9) tan/cot

1092 and Py P (gren sal)? on the side

1)1 (reen s o the sice

12 el ). e e gl ;U U -

13)Inx

14 centimetr s, 4B logariths log)

Yol e fF e s 1,10, 11,12 e dosl punctotions, s s g o 257y b 025 2.5 25—
— etc. The positoning o the decimal point i determined by mentalcalcultion. When wsing scees 1, 3,4, .9 and

Thread ot o i o o he com e,

THE FRONT OF THE RULE =
Commuin o ok Snpenpy oty Sy et

Formula: &=

Set the main indicator fine on the cursor 10 the

T wih o nerlted vaues of  and e b rnd f he tw sl sboe s below (1),
Calculating L or C of £, of a tuned circuit

Formula: f,

Wi et gy 0 copusy ey e

Set the bl trange o sl 0 h gvenfsqueny (1) (g o A Pl e e he givencapcyon 2)
s o the bing n Py (1, g by o e (3). All other values of L at that particular esonant

Foqueocy b o by i bl sl 15 6 ot APOERY

b) Where resonant frequency o and self inductance L are known

Set the triangle to f on scale | and place the hairlne at the selfinduction L on (3); the capacity s m ot rom @)t

the hairline. of 100,

50 that e.g. 10 kHz indicated on the by 102, Lgiver

0 2) st b dimishd ey 10% 1 i e C o st

Calculating the reactance of capacitors or selfinductions
Formula: RC = L and RL = 2afL.

St gl on sale 2 0 fequency foncale 1. Mow the hiine o e cupaty: espctively s ductancs boton (5,
actance Re on (4) at the hailine, and the reactances RL on (6).
Cunveuely, e e o ol capactyor selnductance e known, the cutft i

m at the black triangle. The same pmﬂ
‘Here a multiplication factor can al5o be nmi viz. £ x 103, RCx 103 and € x106; s well as £ x 10~ and L x 103,



" Adjust the hairine inio 3 on (10). The square r00t of i ead off the green X-scale at the haiine.
Cube rootsase fousd by plac

‘THE REAR OF THE RULE

Multiplication (a x b, a x b x c efc.)

The letters 8, b, ¢, ete represent fi

Set the figure 1 on scal 12 to carrespand with value a on the green x-scale and read off the result from the same scale

at the point corresponding to value

“Thisis known as multiplication (o the right.

‘Should the product of a x b fll outside the scale, multiplication to the et must be used. For this the figure 10 on scale

12 s set above value on the green xscale, the product is read o y.

‘When calculating the product of a x b x ¢ e, the main red indicator on the cursor should be set 10 the product of s x b.

o sl 12)is e ol the | i the ht) o1 o he ), et e end rodct 1
below ¢ on (12).

Division (2 b)

‘Shift number b on scale (12) opposite number a on the green x-scale. The quotient is read off this scale opposite either
the 1 110 ofsale (12)Thus diviions can e cared out o the right s well s 0t ft

Multiplication with the aid of b be held in mind the scale runs
from 1 t0 100.

Squaring (a2)

set the cussor to figure a on
the hairine.

Cubin. @3)

the cursor to figure 4 on the the cube from the indicated position
ol 7o o o

‘Square roots (v/a and )

the haieline 31 2 0n scale7), and seading the answer off the green x-cale agal

at the hairline.
Where it is required to find the root of 4 ig
on the righthand half of scle 0. Where ther i 00 nmber of igts befor the Pk poml iy
scale 101 used.

Where figure i lss than 1, the decimal point is mentally shifted 10 the right, n steps of two for as many times asis
necessary 10 permil the above rules to be observed.

the decimal point hree places until one, two or three digis are in

When
front of the decimal point.

Combined multiplication (%)

s canbe ol i e opeonproved e o, i i o 151, e
multpiation (s - c) b, Proceed ssfollows

Plce the number  (on 12)opposite o the gresn xscale, nd sif he airling o b, which ison (12). The answer is
read off the green xacale at the hailne

In this operation it may be necessry fo work o th ef. The quotent of 4 : ¢ eed ot b read off.

Reciprocate sale: Land 15

On scale (1) the rec
combination sums.

ocates of the values on (12) are marked. The former often allows a faster alculation of

Use of the special marks “C” and “Cy” (V/d 7 %)

T purpom o i ks Coaty el 2 e kil e i ol cyum, tobe
Jeulai he slide. used.




(€=+/-) On the green x-scale, place the haidline on the diameter “d", Slide C or C 1 (on 12) to correspond with
the lmlﬂng ‘and read off the answer from the white x? scale, and opposite 1, 10 or 100 of scale (10)

For the volume of a eylinder don't read off the answer opposite I, 10 or 100, but opposite the number representing
the height of the cylinder.

Use of the marks "Ry and “Rgy”

“The purpose of the marks Ry and R, copper
e s LA i AT Lot e Rt
R=L22 i ahich i he. spclc estancsin ﬂ/cm and q is equal to 1/4nd2, 50 that if d is given instead of g,

the formula becomes: R = 422 o R=ly x4

this last . on the rule by R g for al
Place the hairline on the diameter on the green xscale. The length, on v scale s shifted 1o coincide with
the hailine. Now shif the cursor and place the hairline on either R or Ry, depending on the metal

Read off the answer a the haidline, on the white x2 scale of the side.

N.B. For the setting of 1 the rule applis that for an even number of digis before the decimal point, the movement
must be to the left, and for an uneven numbet 10 the right (>scale),

Weight of conductors

With the sid of the marks ¢, for copper and A for sluminium it s possible with a gl morement of el o

caleulate the weight of the conductor, provided that length | and diameter d ae kno

‘The formula used is: W = 1dndxlxRD or W = |47RDxd2xl: the former term (‘/4vRD7 is known and i indicated

on the green x-scale Cy for copper or A for aluminium wires

Pace e Bt o Gy or A The lide i shiftd undill he length | on the whie x? sle coutesponds o the hirine,

M the i ot disss 0 on sl (10).Rea o woiht (i el gram) of the white x sl t hs
ine. When finding the decimal point keep in mind that with a dizmetes in millmeters and length in meters, the.

e Gyand A sepresent values of 10.

Use of the indications o1 the cursor
Hairline p — capacity in Watt

Haislne q

tine pk — capacity in hampaw!! ®p)

e
|/4vmz Phse the p.k. hairline at IM diameter on the green x-scale. 'rbe area is read off at the hairline q, fmm xuk (10).
Hp — K Haiine KV, while the PK
s e b s 1)1 (12) 0 12 bt s e cont

the centre and right ““C” (also see the x-scales (12) so that a figure.
e ety it by 3 P o el o e e e et o oy e
and anly from the green xscle

Amplification
Where the relutive volages/currents or powers respectively are known, the ratio can be established (by division, using
the slide if desired). The resaliing value s then sought on the scale Uy : Up, I + I or Py : Py respectively, whereupor

the cortesponding rumber of 4B ot neper (14 o 13)san bo 58 off from ho elewant sl

Conversely, knowledge of the number of 4B or neper permits immediate reading off o the ratio’s Uy : Uy, Iy < I or
Py P, respectively.

‘The rear of the rule also incorporates fixed calibrations for the convarsion of voltage or curtent raia’s into decibel and
neper, and vice versa, and for the conversion of the raia between powers P : Py into dB and vice vers

B and neper
conversion of dB and by reading off with the 3id ofscales (13)

and (14).



Angle functions

Scales. in conj he funct
6'10.90', while ther sine e at the hailine,
it et o he vl o he ang. To iad e cosne ofn s e e v o b g vl ths s
hich th ead off the tangent
o green xs bt bracketed

o determine th cotangents, work the other wy, v
angles over 45" aro read from the x-scale.

angles up 10 45" are read from the reciprocate scale (11),

Logarithms
h 1 hairline o ie known number. Read off the
the given number on scale (10). Read offat the

3),
hairline on scale (14). (Use the left part of the scale only).
Other marks

O scales (10, 11 and 12) s indicated which is equal to 3.14159. On (10) the mark M isincluded which equals
0318;

Seale (12) includes a black triangle which indicates 1,593 (v2.54), which is the square root of 1 inch in centimeters
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